
REVISIONS

REV. DESCRIPTION DATE APPROVED

A INTIAL RELEASE 5/6/14 JRK

    Push Button, Al Alloy 319

ITEM NO. PART DESCRIPTION QTY.

1351 1351 Modular Push Button Station Assy, 9" x 12", Al

1350 1350 Modular Push Button Station, 9" x 12" 1

5117     1350 9" x 12" Modular Push Button Station, Al Alloy 319 1

5116     8" Extruded Aluminum Angle, Al Alloy 6061 2

7133     1/4"-20 x 3/4" Cap Screw, SS304 4

7166     1/4" Washer, Lock, SS304 4

7165     1/4" Washer, Flat, SS304 4

7164     1/4"-20 x 1/2" Cap Screw, SS304 2

1347-PBG 1347 Push Button Model G 1

5111     1347G Backplate, Al Alloy 319 1

7362     1/4"-20 x 1/4" Cap Screw, Flat Head, SS304 2

7359     1347 G/F Plastic Conduit Plug 1

7363     1/2" Conduit Plug 1

7360     Gasket 1

7356     Switch Unit 1

7355     Switch Fixture 1

7358     Wire Cap 2

7353     #8-32 x 3/8" Cap Screw, Phillips Head SS304 2

7354     #8 Washer, Flat, SS304 2

5113     1347C Cover, Al Alloy 319 1

7361     #10-24 x 1 1/2" Cap Screw, Socket Head, SS304 2

7352     1347C Plastic Seal Plug 1

7351     Helical Wave Spring 1

5114 1

A
DO NOT SCALE DRAWING SHEET 1 OF 1

UNLESS OTHERWISE SPECIFIED:

SCALE: 1:5 WEIGHT: 

REVDWG.  NO.

A
SIZE

TITLE:

NAME DATE

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

FINISH

MATERIAL

INTERPRET GEOMETRIC

TOLERANCING PER:

DIMENSIONS ARE IN INCHES

TOLERANCES:

FRACTIONAL

ANGULAR: MACH   1/32"  

TWO PLACE DECIMAL     .03"

THREE PLACE DECIMAL   .010"

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY OF

COST CAST, INC.  ANY REPRODUCTION IN

PART OR AS A WHOLE WITHOUT THE

WRITTEN PERMISSION OF COST CAST, INC.

IS PROHIBITED.

5 4 3 2 1

COST CAST, INC
ACW

13790

JRK

5/6/14

5/6/14

1351
Modular Push Button Station
Hardware Assembly, 9" x 12"

VARIOUS

VARIOUS

7354 (2X)

5115

7164 (2x)

7133 (4x)

7166 (4x)

7165 (4x)

7353 (2X)

7359

5111

7358 (2X)

5113

7352

7351

5114

7261 (2X)

7356

7355

7360

PROVIDED

7362 (2X)

7363

SIGN NOT

5116 (2x)


